HW 8.4 (b) Key

1. The following premiums are for one-year European options for an underlying asset with a current spot price of

$190:
Strike Price Call Put
170 40.16 8.67
180 34.20 a2.03>
190 28.90 16.05
200 24.25 20.73
210 202D 26.01

The continuously compounded risk-free annual rate of interest is 7%.
Find the cost of a 180-210 strangle. [16 #08]
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2. The following premiums are for one-year European options for an underlying asset with a current spot price of

$140:
Strike Price Call Put
120 31.42 5.57
130 2520 (886
1 92> i
150 <1554 18.22
160 11.99 24.19

The continuously compounded risk-free annual rate of interest is 5%.
Find the cost of a butterfly spread constructed from a staddle using at-the-money options and a strangle using
options that are out-of-the-money by $10. [16 #09]
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3. The following premiums are for one-year European options for an underlying asset with a current spot price of

$190:
Strike Price Call Put
170 40.16 8.67
180 3420 1703
190 28.90 16.05
200 24.25 20.73
210 20.21 Q601>

The continuously compounded risk-free annual rate of interest is 7%.
At a spot price at expiration of X, the profit from a 180-210 bear spread is 0. Find .X. D (p-o2 )
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4. The following premiums are for one-year European options for an underlying asset with a current spot price of

$150:
Strike Price Call Put
130 33.14 6.18
140 26.99 9.50
150 L2171 {13.68
160 17.26 18.70
170 13.58 24 .48

The continuously compounded risk-free annual rate of interest is 5.5%.
Find the range of spot prices at expiration for which a written straddle using at-the-money options has a profit

greater than zero. [\-b3)

Between 112.61 and 187.39 D) Lessthan 112.61 or greater than 187.39
B) Between 141.97 and 158.03 E) Lessthan 141.97 or greater than 158.03

C) Between 114.61 and 185.39

— . Cost = 2171 + 12,68 = 235.2]
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5. The option premiums below are for 3-month European options on Stock A, which is currently priced at $60.
The continuously compounded rate of interest is 4%.

Stock A pays no dividends.

Strike Price Call Put
57 5.55 1.98
60 3.88 3.28
67 1.42 7.75

Using 3-month call options with strike prices 57, 60, and 67, Beth constructs an asymmetric butterfly spread using
the smallest integer values of options available.

Let .Y, represent the price of Stock A in 3 months that would result in a 0 profit for this strategy.

Calculate the mean (average) of all such .X; values. [16_A3]

‘A)l 61.59 B) 6282 C) 6405 D) 6528 E) 66.5]
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